IS 441 Database Management In Class Activity for February 6, 2012

P. 102 Problems and exercises 

Will discuss the following problems:

1. Each answer refers to Figure 2-22 found in the chapter text.

a) Where is a unary relationship, what does it mean, and for what reasons might the cardinalities on it be different in other organizations?

b) Why is Includes a one-to-many relationship and why might this ever be different in some other organization?

c) Does Includes allow for a product to be represented in the database before it is assigned to a product line (e.g., while the product is in research and development)?

d) Suppose there is a rating of the competency for each skill an employee possesses, where in the data model would we place this rating?

e) What is the meaning of the Does Business In associative entity and why does each Does Business In instance have to be associated with exactly one TERRITORY and CUSTOMER?

f) In what way might Pine Valley change the way it does business that would cause the Supplies associative entity to be eliminated and the relationships around it change?

5. Plus: “what if modeled as entities? Hint: referring to 2-15(b)”
7. Think by yourself; will not discuss in class.

9. Think by yourself; may discuss one or two in class.
Survey Problems 10-21 to prepare for my demo, as well as possible homework questions that may be selected from this range.
